WEST BENGAL MEDICAL SERVICES CORPORATION LTD (Wholly Owned by the Government of West Bengal) CIN:U85110WB2008GC126373 2008-09 Regd. Off. Swasthya Sathi, GN-29, Sector-V, Salt Lake Phone: 033 40340300 Fax: 033 40340400 email id: info@wbmsc.gov.in

<u>Name of work:</u> Repairing and servicing of existing fire detection panel with replacement of fire detection & other accessory and Repair of Fire protection system of main line at Domkol Super Speciality Hospital, District: Murshidabad.

NOTICE INVITING TENDER

Managing Director, West Bengal Medical Services Corporation Limited, Swasthya Sathi, GN-29, Sector-V, Kolkata- 700091, invites sealed bids from eligible contractors with experience of similar nature of work for the work.

Repairing and servicing of existing fire detection panel with replacement of fire detection & other accessory and Repair of Fire protection system of main line at Domkol Super Speciality Hospital, District: Murshidabad.

The details may be available at Notice Board of WBMSCL & website www.wbmsc.gov.in and to be submitted (offline) on or before 2:00 P.M. on 7/12/2021.

No of Site	1 no.				
Estimated amount	Rs. 4,67,102.38				
Bid Security/EMD	The bidder has to deposit earnest money Rs. 9,342.00 (In the form of DD from a scheduled bank drawn in favour of "West Bengal Medical Services Corporation Ltd" payable at Kolkata).				
Security Deposit	3% of the contract amount to be deducted from the Bill.				
Releasing of Security Deposit	One year from the date of completion of work				
Tender Publication Date	01/12/2021				
Last date of Submission of Tender	7/12/2021 Up to 2:00 PM				
Date of Opening of Tender Document	7/12/2021 Up to 3:00 PM				
Validity of tender	120 days from the date of submission of Tender				
Time allowed for completion of Work	7 days				
Eligibility of participating bidder	Intending bidders should produce credentials of minimum 01 (one) similar nature of of the minimum value of 40% of the estimated amount put to tender for during 5 (five) years prior to the date of issue of this tender notice i.e. not earlier than 30.11.2016				
Bid opening Venue	West Bengal Medical Services Corporation Ltd, Swasthya Sathi, GN -29 , Sector – V, Salt Lake,				

Kolkata – 700091.

Prospective bidders are requested to submit the bid in a sealed cover addressed to the Managing Director, West Bengal Medical Services Corporation Ltd, Swasthya Sathi, GN -29, Sector – V, Salt Lake, Kolkata – 700091 within the stipulated date & time.

Bidders are instructed to submit their bid consisting of two sealed envelope called "Qualifying Bid" &" Financial Bid" in the tender box of WBMSCL by hand. Bid will not be taken by postal system/courier.

Documents comprising the bid: (Bidders are instructed to submit their bid consisting of two sealed envelope called Qualifying Bid & Financial Bid.)

The Qualifying Bid shall comprise the following: -

- a. PAN No.
- b. GST registration no.
- c. IT Return for the assessment year 2020-21.
- d. Experience in similar field.
- e. Current Trade License.
- f. Current Professional Tax Receipt Challan.
- E. Duly signed NIT & Printed Tender Form.

The Financial Bid shall comprise the following:

Applicable Rate Schedules as per printed format on the letter head of the intending bidder.

(Rate must be given in the B.O.Q. (Annexure A) for work provided below, on the letter head of the intending bidder. Rate is inclusive of all taxes, charges in respect of all the sites/location. Any taxes, charges etc shown separately will not be considered. Rate Quote in any other format will be treated as cancelled).

Comparison of financial bid will be based on total amount quoted by the bidder for each work separately.

The intending bidder(s) required to quote the rate (percentage above/below/at par) over the total estimated cost put to tender considering that no escalation/price adjustment will be allowed by the department under any circumstances.

A bidder shall have to furnish signed "Financial Bid" on their letter head. The financial bid of only of those bidders will be opened who meet all the requirements of the technical bid.

Failing to fulfil the requirements and eligibility criteria set in the bid document will make the bidders Bid invalid. WBMSCL reserves the right to cancel or reject any or all of the Bids without assigning any reason whatsoever.

Sd/-Managing Director

	<u>B.O.Q. (ANNE)</u>						
	airing and servicing of existing fire detection pane						
	ssory and Repair of Fire protection system of ma rict: Murshidabad.	in line a	it Domkol S	uper specia	позрна		
Disti	WBMSCL/NIT-401/2021, D	ated:29/	11/2021				
SI CONTRACTOR CONTRACTOR SI							
No	Description of Item	Unit	Quantity	Rate	Amount		
1	Providing laying, testing & commissioning of 'C' class heavy duty MS Pipe conforming to IS 1239/ 3589 i/c fittings like elbows, tees, flanges, tapers, nuts bolts, gaskets etc. in ground including welding, excavation & providing cement concrete blocks as supports, anticorrosive treatment with coaltar/asphalt tape as per IS 10221, refilling the trench etc. of following sizes complete as required. 150 mm. Dia	Mtr	50	2376	118,800.00		
2	Supplying, fixing, testing & commissioning of double flanged sluice valve of rating PN 1.6 with non rising spindle, bronze/gun metal seat, ISI marked complete with nuts, bolts, washers, gaskets and conforming to IS 780 of following sizes as required : 150mm dia	Each	5	22550	112,750.00		
3	Providing, installation, testing and commissioning of non-return valve of following sizes confirming to IS: 5312 complete with rubber gasket, GI bolts, nuts, washers etc.as required : 150mm dia	Nos	2	17577	35,154.00		
4	Providing, fixing, testing & commissioning of 15mm dia quartzoid bulb type sprinklers of rating 68 degree centigrade with required accessories : Pendent Sprinkler						
5	Pendent Sprinkler	Each	5	484	2,420.00		
6	Upright Sprinkler	Each	5	484	2,420.00		
7	Horizontal side wall sprinkler	Each	5	579	2,895.00		
8	Supplying, installation, testing & commissioning of intelligent analog addressable photo thermal/multi detector complete with mounting base complete as required.	Each	35	2846	99,610.00		
9	Supplying, installation, testing & commissioning sector panel suitable for following zones, complete with visual indications for short circuit fault, open circuit fault, fire condition and all other standard facilities as per IS:2189 with mimic diagram for all area/zone covered, complete with all connections, interconnections as required.	Each	1	11780	11,780.00		
10	Ordinary Cement concrete (mix 1:1.5:3) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement if any, in ground floor as per relevant IS codes. Pakur Variety	Cu.M.	1.6	6373.18	10,197.09		
11	Reinforcement for reinforced concrete work in all sorts of structures including distribution bars, stirrups, binders etc initial straightening and removal of loose rust (if necessary), cutting to requisite length, hooking and bending to correct shape, placing in proper position and binding with 16 gauge black annealed wire at every intersection, complete as per drawing and	M.T.	0.15	61726.19	9,258.93		

	direction. Tor steel/Mild Steel/ JSW/ JSPL/ SHYAM/ SRMB/BMASL/ELECTROSTEEL /SSL						
12	M.S. structural works in roof trusses with tubular sections conforming to IS: 806-1968 & IS: 1161- 1998 connected to one another with bracket, gusset cleats as per design, direction of Engineer- in-charge complete including cutting to requisite size, fabrication with necessary metal arc welding conforming to IS: 8161969 & IS: 9595 using electrodes of approved make and brand conforming to IS:814- 2004, haulage, hoisting and erection all complete. The rate includes the cost of rolled steel section, consumables such as electrodes, gas and hire charge of all tools and plants and labour required for the work including all incidental chages such as electricity charges, labour insurance charges etc. For trusses spanning up to 12.00 m	M.T.	0.6	82522.17	49,513.30		
13	Priming one coat on steel or other metal surface with synthetic oil bound primer of approved quality including smoothening surfaces by sand papering etc.	Sq.M.	85	32.80	2,788.41		
14	Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary : On steel or other metal surface : With other than hi-gloss of approved quality Two coats (with any shade except white)	Sq.M.	85	81.45	6,922.94		
15	Holding down bolt with nut including 100 x 100 x 6 mm plate washer at bottom fitted complete and packing the hole with cement concrete or cement grout as directed. 20 mm dia bolt. 600 mm long.	Each	12	216.06	2,592.71		
				Total	4,67,102.38		
	Quoted Percentage of rate (Excess +)						
	Quoted Percentage of rate (Less -)						
	Quoted Rate in figure						
Quo	Quoted Rate in words :						